Maths Code Crackers | Year 3 | Multiplication and Division | Questions
Queen Victoria died (22 January)

Queen Victoria was the monarch in Britain and Ireland from 1837 to 1901. This is the second-longest
reign of any British monarch. She was only 18 when she became queen. In 1840, Victoria married Prince
Albert of Saxe-Coburg and Gotha. Together, they had nine children. Unfortunately in 1861, Albert passed
away. Victoria was devastated and wore back for the rest of her reign.

Solve each question below. Then use the key to find the answer to the joke. Letters can be used
more than once.

1. 4x2=8x7? 2. If3x7=21then7x3= 3. Sam has 9 sweets. Jenny
has 8 times as many sweets.
How many sweets does
Jenny have?

4, 12x3= 5.1f8x8=64then64+8=

Did you know?
- i Queen Victoria became Empress
6.36+4= 7.4+4= of India in 1877.
8.40+8= 9.1f4x12=48then48+4-= 10. 11x4=

11. Stef has 7 pencils. Tom
has 4 times as many. How
many pencils does Tom

have?
A B C D E F G H | J K L M
33 48 16 5 72 82 32 21 9 35 4 46 7
N (o) Q R T U \') |'}'} X Y Z
28 12 3 2 40 8 1 80 11 44 17 36 0

1 2 3 4 5 6 7 8§ 9 10 11
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1. 4x2=8x? 1 T

lf3x7=21then7x3= 21
3. Sam has 9 sweets. Jenny has 8 times as many sweets. How

many sweets does Jenny have? 72 E
4, 12x3= 36 Y
5. 1f8x8=64then64+8= 8 S
6. 36+4= 9 |
7. 4:4= 1 T
8. 40+8= 5 D
9. If4x12=48then48+4= 12 (o)
10. 11x4= 44 W
11. Stef has 7 pencils. Tom has 4 times as many. How many

pencils does Tom have? 28 N

What is the first thing a king or queen does when they come to the throne?

They sit down.
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